SIREEARELRIE

AR B B RO IR I 28 R 5L AR IR A R R R e I R rh 2 — A ELEE 1Y
WHZE. ERY) VM"J HEMIAS . SRSl Sy TS AR . A SEhke At
PRI B35, I B 2 s T RS ORI E AR LR B

[ H]
1223 P E SR LE R LR T
2 MR 2 R IR AR S B A B A

(S50 /RTE ]

UM TR LA C, 5 B B R Cy 2 1 C
y=C,/Cy. SHBEME | Fim, RAWAIKD K BES D R
AR L BB RE R E B4R 00 0.01 ~ 0.02mm . I AEEE E i

BERE I BOE RS IR B vh BN AR s, (ERESUM A B L F &

AL B, JHEAIRAE, e SRR DT
NBE A F

WERD FiE R Nm , a8 r (HEEAd), Yl
FHIESP %/@Tﬁ SARES, NER D AT R EDIRE,

Xy P = P+ ,EQEPP NRAEE o T M

EEf ﬁﬁﬂ)ﬁ%l@%ﬂ%ﬁiDi‘)&fme’Jﬁﬁ i B A AWREN AN TR, ERE I
HREIRIE B AR R AT — AL C o BIREIIR A AbF/NLR T RN IRSD A I, JEA
SRR O A WK, SLEDA D [ ERss, 1Ak D AT/ L DT REANRS)
JESRS, A E AR UAOR B I NLR AR UR A AR N AT EI A D T . BLS
HE R, HESE A EHREN TR E, P16 D e Basai ik E /L C LT ER
IR, IR A TR G F T 2 E ORI

EVR T AL E N RUNER dx RS NS 22 e dp . R INIE SRR

2
d°x )

AESE

Bl TREHEREHE

m i =7x r-dp (D
RUONYIRYR I FEAR 2, FrCAnl DLEE4afhad i, 4ahTsfE .
PV’ =¥ (2)
(2 FRSFHIGH:
dp = — W;W, dV = 1 rdx (3)

B3 KA (1) A5
2 2.4
LX TIP g
dt mV
PR RIS K R IR S H R, E N

B ,72'27"4[7}/ _2_7z
mV T




)= 4mV _ 64mV 4@

T’prt  T?pd*
P S B TENAS, Rma sty E. BEEsien BLEE, vE S50 71
HEERX, MPEFSE @ RE=ATFHEEE, SR TFSA E=) Bk
3 E B EANEA 2 NMES T B X2 R AR, WA 3 NS E B, Ry

f+2 , . -
EEEEEfE"J%/%?ﬂy:% o MRIEHRAKXTLAR FHNLE 28R 5N
TR
RS (Ar , He) f=3 y=1.67
WEFAMA (N, , H,, 0,0 f=5 v =1.40
L4k (CO, , CH,) f=6 y=133

AR R P TLEL I LB B (0, RS S U . SREIA ELA
AR, TR K T
(EETE)|

HOPRATE, bR, SR, WEBORAR (MU, BOWED, “UR. BB, b
FRF
[ SR ESEI]

1SR TR, T EL ST B R L SR 5

2 B AT JR R R T ARSI AR T 4RE, RLIREDADIA CREBHIER
RSG5 NS

3R GEEMER I LI 7 8 22 BB IR 77 ORSRERITHD . 25345 FL, P fE SRR
P BOM A B R 0/NLHEE, BRI TR A R 22 LT 305 T 7P A
P07 LS (L

[SKEFREAE]

(D FZEBYE, SRR SN LR, EANERAE B T LUy G BTN IRED,
RO EFF B IRBIRES -

(2) JRAEIRNE: BEEE T 2 M E N ERECON S50 R (N 7O BNk 2 d 6
MTETREON N=2n+1 Ko A5 SATAME NS, BUOTHRPIRES, Wik geid e f ] 0 Ja 0 Bio s
PlBoEE, T2 bR Ros B, g <R, R LD ERIE 6 k.

(3) FHURBEM s AP EL I 70750 AW R 10 B4R d AT m, ELEIIE 6 K.

[HiIES5%ER]
1. SRANERFE. B B HAHERE:
*1



R
5ig 1 2 3 4 5 6
JRE m
(x107kg)
B d
(x107°m)
AR T
(s)

2. gERL. m=mzxtA,
d=d+A, (mm)
T=T+A, (5)
y=yxtAy

A ? ’ ’ ’
Zr _ (A_mj + 4(&) + 16(ﬁj + [ﬁj x100%
y m T d V
[EBEf]

T, ENTATCER) 2 DX NERIISE 15 0L BOA 7m0 ?
2. FESEBRIA T, DEIRSIE RIS BAR R A G R, I A5 R4 B SR PR B e

AN At A




